



Deposited via The University of Leeds.

White Rose Research Online URL for this paper:

<https://eprints.whiterose.ac.uk/id/eprint/222766/>

Version: Accepted Version

Article:

Wright-Hughes, A., Ow, P.-L., Alderson, S.L. et al. (2025) Predictors of response to low-dose amitriptyline for irritable bowel syndrome and efficacy and tolerability according to subtype: post hoc analyses from the ATLANTIS trial. *Gut*, 74 (5). pp. 728-739. ISSN: 0017-5749

<https://doi.org/10.1136/gutjnl-2024-334490>

This is an author produced version of an article published in *Gut*, made available under the terms of the Creative Commons Attribution License (CC-BY), which permits unrestricted use, distribution and reproduction in any medium, provided the original work is properly cited.

Reuse

This article is distributed under the terms of the Creative Commons Attribution (CC BY) licence. This licence allows you to distribute, remix, tweak, and build upon the work, even commercially, as long as you credit the authors for the original work. More information and the full terms of the licence here:

<https://creativecommons.org/licenses/>

Takedown

If you consider content in White Rose Research Online to be in breach of UK law, please notify us by emailing eprints@whiterose.ac.uk including the URL of the record and the reason for the withdrawal request.

Accepted for publication 7th January 2025

Title: Predictors of response to low-dose amitriptyline for irritable bowel syndrome and efficacy and tolerability according to subtype: *Post hoc* analyses from the ATLANTIS trial.

Short title: Response to, and effect of, amitriptyline in IBS: *Post hoc* analyses.

Authors: Alexandra Wright-Hughes MSc^{*1}, Pei-Loo Ow MSc^{*1}, Sarah L. Alderson PhD², Matthew J. Ridd PhD³, Robbie Foy PhD², Felicity L. Bishop PhD⁴, Matthew Chaddock BA⁵, Catherine Fernandez PhD¹, Elspeth A. Guthrie MD², Delia P. Muir BA¹, Christopher A. Taylor BA¹, Amanda J. Farrin MSc^{1†}, Hazel A. Everitt PhD^{6†}, Alexander C. Ford MD^{†7,8}, ATLANTIS trialists

*Joint first author

†Joint last author

¹Clinical Trial Research Unit, Leeds Institute of Clinical Trials Research, School of Medicine, University of Leeds, UK.

²Leeds Institute of Health Sciences, School of Medicine, University of Leeds, UK.

³Population Health Sciences, Bristol Medical School, University of Bristol, UK.

⁴Centre for Clinical and Community Applications of Health Psychology, School of Psychology, University of Southampton, UK.

⁵Let'sCure IBS, Leeds, UK.

⁶Primary Care Research Centre, Faculty of Medicine, University of Southampton, Southampton, UK.

⁷Leeds Institute of Medical Research at St. James's, University of Leeds, Leeds, UK.

⁸Leeds Gastroenterology Institute, St James's University Hospital, Leeds, UK.

Abbreviations:	ASEC	Antidepressant Side Effect Checklist
	CI	confidence interval
	EMA	European Medicines Agency
	FDA	Food and Drug Administration
	GP	general practitioner
	HADS	Hospital Anxiety and Depression Scale
	IBS	irritable bowel syndrome
	IBS-C	irritable bowel syndrome with constipation
	IBS-D	irritable bowel syndrome with diarrhoea
	IBS-M	irritable bowel syndrome with mixed bowel habits
	IBS-U	irritable bowel syndrome unclassified
	IBS-SSS	Irritable Bowel Syndrome Severity Scoring System
	IMD	index of mean deprivation
	MD	mean difference
	OR	odds ratio
	PHQ-12	Patient Health Questionnaire-12
	RCT	randomised controlled trial
	SGA	subjective global assessment
	TCA	tricyclic antidepressant
	WSAS	Work and Social Adjustment Scale

Correspondence: Professor Alexander C. Ford
Leeds Gastroenterology Institute
Room 125
4th Floor

Bexley Wing

St. James's University Hospital

Beckett Street

Leeds

United Kingdom

LS9 7TF

Email: alexf12399@yahoo.com

Telephone: +441132684963

ORCID ID: 0000-0001-6371-4359

Twitter: @alex_ford12399

Keywords: irritable bowel syndrome

tricyclic antidepressant

abdominal pain

bowel habit

abdominal distension

Word count: 4000

ABSTRACT

Background: Low-dose amitriptyline, a tricyclic antidepressant (TCA), was superior to placebo for irritable bowel syndrome (IBS) in the ATLANTIS trial.

Objective: To perform *post hoc* analyses of ATLANTIS for predictors of response to, and tolerability of, a TCA.

Design: ATLANTIS randomized 463 adults with IBS to amitriptyline (232) or placebo (231). We examined effect of baseline demographic and disease-related patient characteristics on response to amitriptyline, and effect of amitriptyline on individual symptoms and side effects by subtype.

Results: There was a quantitative difference in amitriptyline effectiveness in those ≥ 50 years versus < 50 on the IBS severity scoring system (IBS-SSS) (interaction $p=0.048$, mean difference in ≥ 50 years subgroup -46.5 ; 95% CI -74.2 to -18.8 , $p=0.0010$), and subjective global assessment of relief (interaction $p=0.068$, odds ratio (OR) in ≥ 50 years subgroup 2.59 ; 95% CI 1.47 to 4.55 , $p=0.0010$), and those in the 70% most deprived areas of England compared with the 30% least deprived for a $\geq 30\%$ improvement in abdominal pain (interaction $p=0.021$, OR in 70% most deprived subgroup 2.70 ; 95% CI 1.52 to 4.77 , $p=0.0007$). Stronger treatment effects were seen in men, with higher Patient Health Questionnaire-12 scores, and with IBS with diarrhoea. Mean differences in individual IBS-SSS components favoured amitriptyline, and side effects were similar, across almost all IBS subtypes.

Conclusion: These exploratory analyses demonstrate there are unlikely to be deleterious effects of amitriptyline in any particular IBS subtype and could help identify patients in whom amitriptyline may be more effective. Clinical trial registration: ISRCTN48075063.

STUDY HIGHLIGHTS

What is already known about this subject

- Low-dose amitriptyline, a tricyclic antidepressant (TCA) was more effective than placebo across a range of symptom measures as a second-line treatment for irritable bowel syndrome (IBS) in the ATLANTIS trial.
- Whether the beneficial effects of TCAs in IBS are affected by other factors is unclear, because most trials have been small and unable to examine these issues.
- In addition, TCAs may have deleterious effects on symptoms for some patients, such as exacerbating constipation in those with IBS with constipation or IBS with mixed bowel habits.

What are the new findings

- In *post hoc* exploratory analyses of ATLANTIS, there was evidence of a quantitative difference in effectiveness of amitriptyline in those ≥ 50 years and those in the 70% most deprived areas of England, according to index of mean deprivation.
- In addition, stronger treatment effects occurred consistently in men, those with higher Patient Health Questionnaire-12 scores, and those with IBS with diarrhoea.
- Mean differences in individual IBS severity scoring system (IBS-SSS) scores favoured amitriptyline for all components of the IBS-SSS across almost all IBS subtypes.
- Excess adverse events with amitriptyline were similar across IBS subtypes, consisting mainly of those related to anticholinergic effects.

- **How might it impact on clinical practice in the foreseeable future**
 - These exploratory analyses could help identify patients in whom amitriptyline may be more effective.
 - They also highlight there are unlikely to be deleterious effects of amitriptyline in any particular IBS subtype.
 - It would, therefore, seem reasonable to offer amitriptyline to patients with IBS regardless of predominant bowel habit.

INTRODUCTION

Irritable bowel syndrome (IBS) is a disorder of gut-brain interaction,[1] characterised by abdominal pain with disordered stool form or stool frequency.[2] IBS affects 5% of the population globally.[3, 4] Patients are subtyped according to predominant bowel habit into constipation (IBS-C), diarrhoea (IBS-D), or mixed bowel habits (IBS-M), or meeting criteria for none of these three, so-called IBS-unclassified (IBS-U). As IBS is chronic and relapsing,[5] it represents a substantial burden to both individuals and society. IBS has a negative impact on quality of life,[6] as well as ability to work and socialise.[7] Patients are willing to accept considerable risk in return for possible cure of symptoms.[8] In the UK, estimated direct costs attributable to IBS are around £1.3 billion per year.[9]

First-line treatments include dietary changes, antispasmodics, laxatives, or anti-diarrheal drugs.[10] However, many patients do not experience adequate relief of symptoms with these. Prior evidence from meta-analyses of randomised controlled trials (RCTs) suggests that tricyclic antidepressants (TCAs) may be beneficial in IBS,[11-13] perhaps due to effects on gastrointestinal motility and pain sensation.[14-16] Whether some beneficial effects are affected by other factors is unclear though, because most trials have been small and unable to examine these issues. In addition, because of their impact on gastrointestinal motility, TCAs may have deleterious effects on symptoms for some patients, such as exacerbating constipation in those with IBS-C or IBS-M.

Recently, we reported the results of ATLANTIS, a pragmatic, definitive, RCT of the TCA amitriptyline at low-dose for IBS.[17] At 6-month follow-up, amitriptyline was more effective than placebo across a range of symptom measures. Because ATLANTIS recruited over 450 patients, *post hoc* analysis is not only feasible but may also yield valuable insights into potential predictors of response to TCAs, the effect of active drug on the individual symptoms of IBS, and tolerability according to IBS subtype. We, therefore, performed exploratory analyses to

assess effectiveness of low-dose amitriptyline versus placebo according to patient characteristics and to investigate consistency of treatment effects across subgroups of clinical importance,[18] and on individual symptoms of IBS by subtype. We also assessed the safety profile of amitriptyline by IBS subtype. We hypothesised there would be consistent predictors of response and that, because of the low doses used in ATLANTIS, amitriptyline would have a beneficial effect on individual gastrointestinal symptoms of IBS, and would be well-tolerated, irrespective of subtype.

METHODS

Study Design

This is a secondary analysis of data from ATLANTIS (Amitriptyline at Low-dose AND Titrated for Irritable bowel syndrome as Second-line treatment). ATLANTIS was an individually randomised, double-blind, superiority trial examining the effectiveness of 6 months of low-dose (10mg-30mg/day) amitriptyline versus placebo as second-line treatment for adults with IBS in primary care. The trial was conducted in 55 general practices in three geographical regions, or hubs, in England: West Yorkshire; Wessex; and the West of England. The study protocol and all subsequent amendments were approved by Yorkshire and the Humber (Sheffield) Research Ethics Committee (19/YH/0150) and fully published.[19] The methodology and main results are reported elsewhere.[17, 19-21] Details concerning participants, randomisation, masking, procedures, and outcome measures are, therefore, provided in the Supplement. ATLANTIS was conducted in accordance with the principles of Good Clinical Practice and the Declaration of Helsinki and registered with the ISRCTN (ISRCTN48075063).

Baseline Data

A total of 10 baseline measurements defined the candidate effect modifiers of interest. Categorical variables included sex and IBS subtype (IBS-C vs. IBS-D vs. IBS-M or IBS-U). Continuous measurements included age, deprivation of regional residence as assessed by index of mean deprivation (IMD) decile at the participant level, IBS severity at baseline on the IBS severity scoring system (IBS-SSS),[22] time from diagnosis, IBS-associated somatic symptoms,[23] assessed using the Patient Health Questionnaire-12 (PHQ-12),[24] anxiety and depression scores via the Hospital Anxiety and Depression Scale (HADS),[25] and ability to work and participate in other activities measured using the Work and Social Adjustment Scale

(WSAS).[26] The total PHQ-12 score ranges from a minimum of 0 to a maximum of 24 for women and 0 to 22 for men, with higher scores indicating greater somatic symptoms.[24] The total HADS score ranges from 0 to 21 for both anxiety and depression with scores 0-7 defining normal, 8-10 borderline, and ≥ 11 abnormal scores.[25] The total WSAS score ranges from 0 to 40, with <10 used to define low, 10 to 20 moderate, and >20 severe impairment.[26] IBS is considered a biopsychosocial disorder,[27] and all the effect modifiers are relevant in this regard as they include age, biological sex, social circumstances (deprivation index), psychological impact, and impact on work and social activities.

Statistical Analysis

All authors had access to study data and reviewed and approved the final manuscript. All analyses were exploratory and were performed in the intention-to-treat population, defined as all participants randomised to trial medication, regardless of adherence. All statistical testing used two-sided 5% significance levels, performed in SAS, version 9.4.

We compared 6-month total IBS-SSS scores, subjective global assessment (SGA) of relief of IBS symptoms at 6 months, and a $\geq 30\%$ improvement in abdominal pain at 6 months in each trial arm according to the 10 candidate effect modifiers at trial entry. We further compared individual components of the IBS-SSS score at 6 months, including frequency of abdominal pain, severity of abdominal pain, severity of abdominal distension, satisfaction with bowel habit, and degree to which IBS symptoms were affecting, or interfering with, the participant's life in general between amitriptyline and placebo according to IBS subtype only.

For each candidate effect modifier, we analysed the outcome using linear (IBS-SSS score) or logistic (SGA of relief or a $\geq 30\%$ improvement in abdominal pain) regression, as appropriate, with fixed effects for randomisation strata (IBS subtype, HADS depression score <8 or ≥ 8 , recruitment hub), IBS-SSS score at baseline (or IBS-SSS component scores, where

appropriate; i.e. analysis of covariance),[28] effect modifier, treatment and effect modifier x treatment interaction. We imputed missing data by treatment arm via multiple imputation by chained equations with 25 imputations, including recruitment hub, IBS subtype, sex, age, baseline questionnaire scores (IBS-SSS, PHQ-12, HADS, and WSAS), 3-month outcome as appropriate, and 6-month treatment status in the model.

Simple effects, together with 95% confidence intervals (CIs) and *p*-values, of the adjusted mean difference (MD) and odds ratio (OR), as appropriate to outcome, summarised the treatment effect (amitriptyline vs. placebo) within each category of the effect modifier, or at distinct levels of continuous effect modifiers.[29] Alongside simple effects illustrating the relative effects within subgroups, the *p*-value for the interaction term was used to assess whether there was evidence of differential treatment effectiveness across patient characteristics (i.e., whether the intervention was more or less effective according to the effect modifier). To explore placebo effects, simple effects were also extracted to summarise effect modifiers within each trial arm on likelihood of SGA of relief of IBS symptoms or a $\geq 30\%$ improvement in abdominal pain at 6 months. Given the exploratory nature of the analysis, the findings are intended to guide future research and were not adjusted for multiple testing.

To provide clinically clear and communicable results, aligned with applications to precision medicine, we categorised continuous baseline effect modifiers to allow treatment effects to be estimated within subgroups together with the treatment by subgroup interaction. We categorised effect modifiers primarily according to recommended cut offs, where these were available, including for the HADS (normal vs. borderline or abnormal), WSAS (low vs. moderate vs. severe impairment), and IBS-SSS (mild vs. moderate vs. severe symptoms), and elsewhere using the median, including for age (<50 vs. ≥ 50 years), PHQ-12 score (≤ 6 vs. >6), aligning with the suggested cut-off to distinguish IBS from non-IBS symptoms,[24] IMD decile (≤ 7 vs. >7), and time from diagnosis of IBS (≤ 10 vs. >10 years). We conducted sensitivity

analysis of these effect modifiers on the continuous scale, in which the estimated interaction effect represents the change in treatment effect for a one-unit increase in the continuous effect modifier, in order to respect the underlying data structure and protect against loss of information and statistical power due to categorisation.[30]

Descriptive statistics of self-reported treatment-emergent adverse events on the Antidepressant Side Effect Checklist (ASEC), and total ASEC score, at 6 months were presented by IBS subtype according to medication received for participants still on treatment.

RESULTS

Between 18th October 2019 and 11th April 2022, we randomised 463 participants to amitriptyline (n=232) or placebo (n=231). Trial follow-up completed in October 2022 with 6-month follow-up achieved for 401 (87%) participants (204 (88%) amitriptyline, 197 (85%) placebo), and completion of 6 months of treatment in 338 (73%) participants (173 (75%) amitriptyline and 165 (71%) placebo). As previously reported, amitriptyline was superior to placebo at 6 months in the intention-to-treat analysis for the primary outcome (MD in IBS-SSS -27.0; 95% CI -46.9 to -7.1, $p=0.0079$), key secondary outcome of SGA of relief (OR 1.78; 95% CI 1.19 to 2.66, $p=0.0050$), and the exploratory outcome of a $\geq 30\%$ reduction in abdominal pain (OR 1.66; 95% CI 1.12 to 2.46, $p=0.012$). [17, 21]

According to the candidate effect modifiers of interest, the median age of participants was 50 years, with a median IMD decile of 7 (indicating that half the sample were in the 30% least deprived areas in England), a median PHQ-12 score of 6, and a median time since IBS diagnosis of 10 years. Most participants were female (68.0%); with IBS-M or IBS-U (44.3%), followed by IBS-D (39.1%), or IBS-C (16.6%), and reported moderate (43.4%) or severe (41.3%) symptoms on the IBS-SSS. Anxiety and depression scores were normal in 52.9% and 84.2% of all participants, respectively. Impairment in work and other activities was low (47.4%) or moderate (39.3%) for most participants.

Effect of Baseline Characteristics on Response to Amitriptyline at 6 Months

Based on the p -value for the treatment by effect modifier interaction (Table 1), there was a quantitative difference in the effectiveness of amitriptyline according to age on the IBS-SSS (interaction $p=0.048$), with improved treatment effects in participants aged ≥ 50 years (MD -46.5; 95% CI -74.2 to -18.8, $p=0.0010$). This effect was also observed for SGA of relief at the 10% significance level (interaction $p=0.068$) with an increased odds of response for SGA of relief

Table 1. Treatment effect on the Total IBS-SSS Score and for SGA of Relief of IBS Symptoms at 6 Months According to Participant Baseline Characteristics.

Baseline Characteristic‡	Total IBS-SSS Score at 6 Months				SGA of Relief of IBS Symptoms at 6 Months			
	Mean (SD)		Adjusted Mean Difference* (Amitriptyline/ Placebo) (95% CI), <i>p</i> -value	Test for Interaction <i>p</i> -value	n (%)		Adjusted Odds Ratio† (Amitriptyline/ Placebo) (95% CI), <i>p</i> -value	Test for Interaction <i>p</i> -value
	Amitriptyline (n=232)	Placebo (n=231)			Amitriptyline (n=232)	Placebo (n=231)		
Age (median cut off)								
<50 years (n=233, 50.3%)	197.1 (100.3), n=96	205.5 (112.2), n=96	-7.1 (-35.0, 20.8), <i>p</i> =0.62	<i>p</i> =0.048	52/96 (54.2%)	46/95 (48.4%)	1.24 (0.70, 2.18), <i>p</i> =0.47	<i>p</i> =0.068
≥50 years (n=230, 49.7%)	146.7 (109.0), n=108	195.0 (116.9), n=101	-46.5 (-74.2, -18.8), <i>p</i> =0.0010		73/108 (67.6%)	42/100 (42.0%)	2.59 (1.47, 4.55), <i>p</i> =0.0010	
Sex								
Male (n=148, 32.0%)	161.1 (103.2), n=71	197.9 (113.1), n=61	-47.9 (-82.6, -13.2), <i>p</i> =0.0069	<i>p</i> =0.15	44/71 (62.0%)	23/60 (38.3%)	2.49 (1.24, 5.00), <i>p</i> =0.011	<i>p</i> =0.26
Female (n=315, 68.0%)	175.3 (110.1), n=133	201.1 (115.5), n=136	-17.1 (-41.4, 7.1), <i>p</i> =0.17		81/133 (60.9%)	65/135 (48.1%)	1.53 (0.93, 2.49), <i>p</i> =0.091	
IMD decile‡ (median cut off)								
≤7 (n=234, 51.0%)	166.0 (102.7), n=107	206.2 (118.7), n=93	-39.1 (-66.6, -11.6), <i>p</i> =0.0054	<i>p</i> =0.33	70/107 (65.4%)	38/91 (41.8%)	2.29 (1.30, 4.03), <i>p</i> =0.0043	<i>p</i> =0.29
>7 (n=225, 49.0%)	172.6 (113.1), n=95	195.7 (110.7), n=103	-19.4 (-47.7, 9.0), <i>p</i> =0.18		55/95 (57.9%)	49/103 (47.6%)	1.51 (0.87, 2.61), <i>p</i> =0.15	
IBS subtype								
IBS-C (n=77, 16.6%)	165.3 (102.5), n=36	239.0 (119.8), n=31	-50.2 (-99.1, -1.3), <i>p</i> =0.044	<i>p</i> =0.15	18/36 (50.0%)	12/31 (38.7%)	1.56 (0.58, 4.20), <i>p</i> =0.38	<i>p</i> =0.95
IBS-D (n=181, 39.1%)	163.8 (103.7), n=81	199.0 (110.8), n=77	-38.7 (-69.7, -7.6), <i>p</i> =0.015		52/81 (64.2%)	32/76 (42.1%)	2.27 (1.21, 4.26), <i>p</i> =0.010	
IBS-M or IBS-U (n=205, 44.3%)	178.6 (114.0), n=87	187.5 (113.9), n=89	-8.0 (-38.1, 22.2), <i>p</i> =0.60		55/87 (63.2%)	44/88 (50.0%)	1.50 (0.82, 2.74), <i>p</i> =0.18	
IBS severity								
Mild (75-174) (n=63, 13.8%)	117.5 (84.2), n=32	132.6 (83.9), n=23	-1.7 (-56.5, 53.1), <i>p</i> =0.95	<i>p</i> =0.69	22/32 (68.8%)	9/23 (39.1%)	3.03 (0.99, 9.30), <i>p</i> =0.053	<i>p</i> =0.34
Moderate (175-299) (n=201, 44.2%)	168.9 (101.3), n=91	174.0 (89.0), n=93	-14.8 (-44.9, 15.3), <i>p</i> =0.34		53/91 (58.2%)	44/92 (47.8%)	1.65 (0.91, 2.96), <i>p</i> =0.097	
Severe (300-500) (n=191, 42.0%)	197.6 (116.0), n=78	257.3 (123.9), n=78	-51.6 (-84.2, -18.9), <i>p</i> =0.0020		48/78 (61.5%)	32/77 (41.6%)	1.73 (0.92, 3.24), <i>p</i> =0.087	

HADS-anxiety score								
Normal (<8) (n=245, 52.9%)	154.2 (101.4), n=110	198.5 (119.6), n=102	-38.4 (-65.3, -11.5), <i>p</i> =0.0052		69/110 (62.7%)	47/102 (46.1%)	1.73 (1.00, 2.97), <i>p</i> =0.049	
Borderline/abnormal (≥8) (n=218, 47.1%)	189.4 (112.3), n=94	201.8 (109.3), n=95	-13.6 (-43.5, 16.4), <i>p</i> =0.37	<i>p</i> =0.23	56/94 (59.6%)	41/93 (44.1%)	1.84 (1.03, 3.26), <i>p</i> =0.038	<i>p</i> =0.88
HADS-depression score								
Normal (<8) (n=390, 84.2%)	168.4 (105.9), n=170	195.1 (113.2), n=169	-19.6 (-41.0, 1.8), <i>p</i> =0.073		105/170 (61.8%)	75/167 (44.9%)	1.80 (1.17, 2.77), <i>p</i> =0.0076	
Borderline/abnormal (≥8) (n=73, 15.8%)	180.6 (117.7), n=34	230.4 (119.6), n=28	-65.7 (-116.0, -15.4), <i>p</i> =0.011	<i>p</i> =0.096	20/34 (58.8%)	13/28 (46.4%)	1.61 (0.59, 4.39), <i>p</i> =0.36	<i>p</i> =0.83
PHQ-12 score (median cut off)								
≤6 (n=256, 56.0%)	162.0 (97.0), n=115	175.5 (109.8), n=106	-10.7 (-37.9, 16.5), <i>p</i> =0.44		70/115 (60.9%)	54/106 (50.9%)	1.39 (0.82, 2.35), <i>p</i> =0.22	
>6 (n=201, 44.0%)	184.6 (119.1), n=87	230.1 (113.6), n=90	-45.8 (-75.8, -15.9), <i>p</i> =0.0027	<i>p</i> =0.092	53/87 (60.9%)	34/89 (38.2%)	2.32 (1.26, 4.28), <i>p</i> =0.0071	<i>p</i> =0.21
WSAS score								
Low impairment (<10) (n=210, 47.4%)	149.4 (106.6), n=104	172.6 (105.4), n=86	-19.0 (-48.4, 10.4), <i>p</i> =0.20		65/104 (62.5%)	42/85 (49.4%)	1.59 (0.88, 2.87), <i>p</i> =0.12	
Moderate impairment (10-20) (n=174, 39.3%)	188.7 (98.4), n=67	216.0 (122.0), n=78	-23.9 (-55.9, 8.2), <i>p</i> =0.14	<i>p</i> =0.83	39/67 (58.2%)	36/78 (46.2%)	1.50 (0.78, 2.87), <i>p</i> =0.22	<i>p</i> =0.90
Severe impairment (>20) (n=59, 13.3%)	223.7 (114.2), n=27	256.7 (90.8), n=21	-39.8 (-97.1, 17.4), <i>p</i> =0.17	<i>p</i> =0.52	17/27 (63.0%)	6/21 (28.6%)	3.30 (1.00, 10.85), <i>p</i> =0.050	<i>p</i> =0.28
Time from diagnosis (median cut off)								
≤10 years (n=253, 54.8%)	166.9 (106.2), n=108	188.7 (109.8), n=106	-24.7 (-52.3, 2.8), <i>p</i> =0.078		66/108 (61.1%)	52/106 (49.1%)	1.58 (0.92, 2.72), <i>p</i> =0.10	
>10 years (n=209, 45.2%)	174.4 (109.8), n=96	211.9 (118.7), n=90	-29.0 (-57.7, -0.4), <i>p</i> =0.047	<i>p</i> =0.83	59/96 (61.5%)	36/88 (40.9%)	2.04 (1.13, 3.69), <i>p</i> =0.019	<i>p</i> =0.53

*Mean differences estimated using linear regression adjusted for covariates (baseline IBS-SSS score, IBS subtype, sex, HADS-depression score, recruiting hub) using subgroup by treatment interaction effect and multiple imputation of missing data. Mean differences in IBS-SSS score are for amitriptyline versus placebo for each of the baseline characteristics. Negative mean differences favour amitriptyline.

†Odds ratios estimated using logistic regression adjusted for covariates (baseline IBS-SSS score, IBS subtype, sex, HADS-depression score, recruiting hub) using subgroup by treatment interaction effect and multiple imputation of missing data. Odds ratios are for amitriptyline versus placebo for each of the baseline characteristics. Odds ratios greater than 1 favour amitriptyline.

‡In all participants, including those with missing total IBS-SSS score or SGA of relief at 6 months.

*Higher deciles = less deprived.

with amitriptyline compared with placebo in participants aged ≥ 50 years (OR 2.59; 95% CI 1.47 to 4.55, $p=0.0010$) (Table 1). Although there was a similarly increased odds for a $\geq 30\%$ improvement in abdominal pain in participants aged ≥ 50 years (OR 2.10; 95% CI 1.20 to 3.68, $p=0.0093$) this was not significantly different to that in participants aged < 50 years (interaction $p=0.23$) (Table 2). There was also evidence of a quantitative difference in the effectiveness of amitriptyline according to IMD for a $\geq 30\%$ improvement in abdominal pain (interaction $p=0.021$), with an increased odds of response to amitriptyline compared with placebo in participants living in the 70% most deprived areas in England (OR 2.70; 95% CI 1.52 to 4.77, $p=0.0007$). There was a similarly increased treatment effect in participants living in the 70% most deprived areas on the IBS-SSS (MD -39.1; 95% CI -66.6 to -11.6, $p=0.0054$) and SGA of relief (OR 2.29; 95% CI 1.30 to 4.03, $p=0.0043$), but this was not significantly different to that in participants in the 30% least deprived areas (interaction $p=0.33$ and $p=0.29$, respectively). No qualitative effect modifier effects were observed, in which amitriptyline was suggested to be beneficial in one effect modifier subgroup but harmful in another.

There was some evidence of a differential treatment effect on the IBS-SSS for those with above median PHQ-12 scores (MD -45.8; 95% CI -75.8 to -15.9, $p=0.0027$). This was consistent for odds of SGA of relief (OR 2.32; 95% CI 1.26 to 4.28, $p=0.0071$) and a $\geq 30\%$ improvement in abdominal pain (OR 2.31; 95% CI 1.26 to 4.22, $p=0.0065$). Stronger treatment effects were observed consistently for all three endpoints in men (IBS-SSS MD -47.9; 95% CI -82.6 to -13.2, $p=0.0069$, OR for SGA of relief 2.49; 95% CI 1.24 to 5.00, $p=0.011$, and OR for a $\geq 30\%$ improvement in abdominal pain 2.14; 95% CI 1.05 to 4.37, $p=0.037$) (Tables 1 and 2, Figures 1, 2, and 3). There were also stronger treatment effects observed in those with severe symptoms on the IBS-SSS (MD -51.6; 95% CI -84.2 to -18.9, $p=0.0020$) and a $\geq 30\%$ improvement in abdominal pain (OR 2.56; 95% CI 1.35 to 4.88, $p=0.0042$) but not SGA of relief, where those with mild symptoms exhibited the greatest treatment effect (OR 3.03; 95% CI 0.99 to 9.30,

Table 2. Treatment effect for a $\geq 30\%$ Improvement in Abdominal Pain at 6 Months According to Participant Baseline Characteristics.

Baseline Characteristic†	$\geq 30\%$ Improvement in Abdominal Pain at 6 Months			
	n (%)		Adjusted Odds Ratio* (Amitriptyline/ Placebo) (95% CI), <i>p</i> -value	Test for interaction <i>p</i> -value
	Amitriptyline (n=232)	Placebo (n=231)		
Age (median cut off)				
<50 years (n=233, 50.3%)	47/96 (49.0%)	40/96 (41.7%)	1.30 (0.74, 2.27), <i>p</i> =0.36	<i>p</i> =0.23
≥ 50 years (n=230, 49.7%)	66/107 (61.7%)	44/101 (43.6%)	2.10 (1.20, 3.68), <i>p</i> =0.0093	
Sex				
Male (n=148, 32.0%)	39/71 (54.9%)	22/61 (36.1%)	2.14 (1.05, 4.37), <i>p</i> =0.037	<i>p</i> =0.41
Female (n=315, 68.0%)	74/132 (56.1%)	62/136 (45.6%)	1.48 (0.91, 2.40), <i>p</i> =0.12	
IMD decile‡ (median cut off)				
≤ 7 (n=234, 51.0%)	68/106 (64.2%)	34/93 (36.6%)	2.70 (1.52, 4.77), <i>p</i> =0.0007	<i>p</i> =0.021
> 7 (n=225, 49.0%)	45/95 (47.4%)	49/103 (47.6%)	1.07 (0.62, 1.86), <i>p</i> =0.80	
IBS subtype				
IBS-C (n=77, 16.6%)	17/36 (47.2%)	12/31 (38.7%)	1.41 (0.52, 3.80), <i>p</i> =0.49	<i>p</i> =0.92
IBS-D (n=181, 39.1%)	48/81 (59.3%)	30/77 (39.0%)	2.28 (1.22, 4.27), <i>p</i> =0.010	
IBS-M or IBS-U (n=205, 44.3%)	48/86 (55.8%)	42/89 (47.2%)	1.33 (0.73, 2.41), <i>p</i> =0.35	
IBS severity				
Mild (75-174) (n=63, 13.8%)	12/32 (37.5%)	8/23 (34.8%)	1.08 (0.35, 3.36), <i>p</i> =0.90	<i>p</i> =0.70
Moderate (175-299) (n=201, 44.2%)	48/91 (52.7%)	42/ 93 (45.2%)	1.39 (0.78, 2.50), <i>p</i> =0.27	
Severe (300-500) (n=191, 42.0%)	52/77 (67.5%)	33/78 (42.3%)	2.56 (1.35, 4.88), <i>p</i> =0.0042	
HADS-anxiety score				
Normal (<8) (n=245, 52.9%)	61/109 (56.0%)	46/102 (45.1%)	1.51 (0.88, 2.60), <i>p</i> =0.13	<i>p</i> =0.65
Borderline/abnormal (≥ 8) (n=218, 47.1%)	52/94 (55.3%)	38/95 (40.0%)	1.82 (1.02, 3.24), <i>p</i> =0.043	
HADS-depression score				
Normal (<8) (n=390, 84.2%)	95/169 (56.2%)	73/169 (43.2%)	1.65 (1.07, 2.54), <i>p</i> =0.024	<i>p</i> =0.98
Borderline/abnormal (≥ 8) (n=73, 15.8%)	18/34 (52.9%)	11/38 (39.3%)	1.67 (0.60, 4.65), <i>p</i> =0.32	
PHQ-12 score (median cut off)				
≤ 6 (n=256, 56.0%)	62/115 (53.9%)	51/106 (48.1%)	1.24 (0.72, 2.12), <i>p</i> =0.44	<i>p</i> =0.13
> 6 (n=201, 44.0%)	49/86 (57.0%)	33/90 (36.7%)	2.31 (1.26, 4.22), <i>p</i> =0.0065	

WSAS score				
Low impairment (<10) (n=210, 47.4%)	52/104 (50.0%)	39/86 (45.3%)	1.21 (0.67, 2.17), $p=0.52$	$p=0.32$
Moderate impairment (10-20) (n=174, 39.3%)	41/67 (61.2%)	34/78 (43.6%)	1.88 (0.98, 3.59), $p=0.057$	
Severe impairment (>20) (n=59, 13.3%)	15/26 (57.7%)	7/21 (33.3%)	2.50 (0.73, 8.49), $p=0.14$	
Time from diagnosis (median cut off)				
≤10 years (n=253, 54.8%)	64/107 (59.8%)	45/106 (42.5%)	1.94 (1.14, 3.31), $p=0.014$	$p=0.37$
>10 years (n=209, 45.2%)	49/96 (51.0%)	39/90 (43.3%)	1.36 (0.76, 2.43), $p=0.30$	

*Odds ratios estimated using logistic regression adjusted for covariates (baseline IBS-SSS score, IBS subtype, sex, HADS-depression score, recruiting hub) using subgroup by treatment interaction effect and multiple imputation of missing data. Odds ratios are for amitriptyline versus placebo for each of the baseline characteristics. Odds ratios greater than 1 favour amitriptyline.

†In all participants, including those with missing $\geq 30\%$ improvement in abdominal pain at 6 months.

‡Higher deciles = less deprived.

$p=0.053$). The strongest treatment effects were also observed in participants with IBS-D for SGA of relief (OR 2.27; 95% CI 1.21 to 4.26, $p=0.010$), and a $\geq 30\%$ improvement in abdominal pain (OR 2.28; 95% CI 1.22 to 4.27, $p=0.010$), and in participants with IBS-C or IBS-D on the IBS-SSS (IBS-C MD -50.2; 95% CI -99.1 to -1.3, $p=0.044$, IBS-D MD -38.7; 95% CI -69.7 to -7.6, $p=0.015$).

In the sensitivity analysis evaluating the effectiveness of amitriptyline according to effect modifiers modelled on the continuous scale (Supplementary Figures 1 and 2), no statistically significant effects were observed across any outcome. Where significant moderating effects were detected on dichotomised variables of age, IMD decile, HADS-depression, or PHQ-12 scores, sensitivity analyses on the continuous scale were consistent in terms of a trend towards improved treatment effects in older participants, those living in more deprived areas, and those with higher PHQ-12 scores. However, these interaction effects were not statistically significant. Analyses of the effect of baseline characteristics on response to either amitriptyline or placebo at 6 months are provided in the Supplement.

Effect of Amitriptyline on Individual Components of the IBS-SSS According to IBS Subtype

Estimated adjusted mean differences in individual IBS-SSS components favoured amitriptyline across all subtypes (Table 3), with the exception of abdominal pain frequency in participants with IBS-M or IBS-U, where there was a small and non-significant MD in favour of placebo (2.5; 95% CI -5.5 to 10.5, $p=0.54$). The treatment effect on abdominal pain was significant (interaction $p=0.045$) in the IBS-D subset (MD -9.2; 95% CI -17.4 to -1.0, $p=0.028$); although it was similarly improved in the IBS-C subset (MD -8.9; 95% CI -22.1 to 4.2, $p=0.18$) this was not significantly different to those with IBS-M or IBS-U (interaction $p=0.14$) due to the smaller sample size. No further significant treatment-subtype interaction effects were observed.

Table 3. Mean Difference in Individual Components of the IBS-SSS Score According to IBS Subtype.

IBS-SSS Component†	Mean 6-month IBS-SSS Component Score (SD)		Adjusted Mean Difference* (Amitriptyline/Placebo) (95% CI), <i>p</i> -value	Test for Interaction <i>p</i> -value
	Amitriptyline (n=232)	Placebo (n=231)		
Abdominal pain severity				
IBS-C	25.0 (25.9), n=36	41.0 (27.1), n=31	-10.9 (-23.3, 1.4), <i>p</i> =0.083	<i>p</i> =0.22
IBS-D	27.5 (26.9), n=81	33.0 (27.1), n=77	-7.3 (-15.3, 0.8), <i>p</i> =0.077	<i>p</i> =0.33
IBS-M or IBS-U	30.8 (27.3), n=87	32.0 (28.4), n=89	-1.7 (-9.4, 6.0), <i>p</i> =0.67	
Abdominal pain frequency				
IBS-C	24.7 (29.3), n=36	39.4 (29.5), n=31	-8.9 (-22.1, 4.2), <i>p</i> =0.18	<i>p</i> =0.14
IBS-D	23.2 (28.0), n=81	32.3 (30.5), n=77	-9.2 (-17.4, -1.0), <i>p</i> =0.028	<i>p</i> =0.045
IBS-M or IBS-U	29.7 (29.9), n=87	27.5 (26.9), n=89	2.5 (-5.5, 10.5), <i>p</i> =0.54	
Abdominal distension severity				
IBS-C	30.8 (30.3), n=36	51.3 (31.3), n=31	-15.0 (-27.6, -2.3), <i>p</i> =0.021	<i>p</i> =0.10
IBS-D	28.4 (24.4), n=81	36.2 (28.3), n=77	-7.1 (-15.4, 1.1), <i>p</i> =0.090	<i>p</i> =0.42
IBS-M or IBS-U	33.4 (29.0), n=87	37.0 (28.7), n=89	-2.6 (-10.4, 5.2), <i>p</i> =0.51	
Satisfaction with bowel habit				
IBS-C	50.0 (25.1), n=36	65.5 (25.4), n=31	-13.6 (-26.0, -1.3), <i>p</i> =0.031	<i>p</i> =0.17
IBS-D	48.4 (27.2), n=81	53.0 (26.6), n=77	-5.1 (-12.8, 2.6), <i>p</i> =0.20	<i>p</i> =0.75
IBS-M or IBS-U	48.6 (27.5), n=87	51.2 (26.5), n=89	-3.3 (-10.8, 4.2), <i>p</i> =0.38	
How much affecting or interfering with life in general				
IBS-C	34.7 (27.0), n=36	41.9 (26.8), n=31	-3.3 (-15.9, 9.2), <i>p</i> =0.60	<i>p</i> =0.80
IBS-D	36.3 (27.0), n=81	44.4 (27.8), n=77	-9.0 (-17.3, -0.8), <i>p</i> =0.032	<i>p</i> =0.18
IBS-M or IBS-U	36.1 (28.4), n=87	39.8 (28.0), n=89	-1.5 (-9.2, 6.2), <i>p</i> =0.71	

*Mean differences estimated using linear regression adjusted for covariates (baseline IBS-SSS score, IBS subtype, sex, HADS-depression score, recruiting hub) using subgroup by treatment interaction effect and multiple imputation of missing data. Mean differences in IBS-SSS score are for amitriptyline versus placebo for each IBS-SSS component according to IBS subtype. Negative mean differences favour amitriptyline.

†In all participants, including those with missing total IBS-SSS score at 6 months.

However, smaller treatment effects were observed consistently across all components of the IBS-SSS in those with IBS-M or IBS-U compared with those with IBS-D or IBS-C, as was observed for the total IBS-SSS, SGA of relief, and a $\geq 30\%$ improvement in abdominal pain outcomes. In addition to findings for abdominal pain frequency, significant differences vs. placebo were also observed for abdominal distension severity in those with IBS-C (-15.0; 95% CI -27.6 to -2.3, $p=0.021$), satisfaction with bowel habit in those with IBS-C (-13.6; 95% CI -26.0 to -1.3, $p=0.031$), and degree to which symptoms were affecting or interfering with life in general in those with IBS-D (-9.0; 95% CI -17.3 to -0.8, $p=0.032$).

Tolerability of Amitriptyline According to IBS Subtype

The total ASEC score was similar across treatment arms at 6 months for IBS-C and IBS-M or IBS-U, but higher in those with IBS-D receiving amitriptyline (Table 4). Individual treatment-emergent adverse events at 6 months, according to the ASEC, by IBS subtype are provided in Supplementary Figures 4 to 6. Excess adverse events with amitriptyline were similar across IBS subtypes, consisting mainly of those related to anticholinergic effects, including dry mouth, drowsiness, blurred vision, and urination problems. Rates of constipation were similar with amitriptyline and placebo in IBS-C (78.6% vs. 78.3%) and IBS-M or IBS-U (68.1% vs. 68.1%), but higher ($>10\%$ absolute difference) with amitriptyline in IBS-D (33.3% vs. 21.7%). Rates of diarrhoea were similar with amitriptyline and placebo in IBS-C (32.1% vs. 34.8%) and IBS-M or IBS-U (58.3% vs. 63.8%), but higher with placebo in IBS-D (71.2% vs. 85.0%).

Table 4. Mean Difference in ASEC Scores According to IBS Subtype.

IBS Subtype	Mean 6-month ASEC Score (SD)*	
	Amitriptyline (n=166)	Placebo (n=152)
IBS-C	9.1 (5.7), n=28	9.4 (6.2), n=23
IBS-D	9.2 (6.6), n=66	7.4 (5.5), n=60
IBS-M or IBS-U	9.6 (5.8), n=72	9.5 (6.7), n=69

*There were 338 participants (174 amitriptyline, 164 placebo) still on treatment at 6 months, of whom 318 (166 amitriptyline, 152 placebo) completed the ASEC.

DISCUSSION

We performed a series of *post hoc* analyses of the ATLANTIS trial of low-dose amitriptyline for IBS. Amitriptyline was effective overall, and across multiple endpoints, as reported previously. All patient subgroups had intervention effects in the direction of benefit, and although the magnitude of effect varied by subgroup, differences in treatment effects were not statistically significant according to most of the effect modifiers examined. There was evidence of a quantitative difference in effectiveness of amitriptyline in those ≥ 50 years and those in the 70% most deprived areas of England, according to IMD decile. In addition, stronger treatment effects occurred consistently in men, those with higher PHQ-12 scores, and those with IBS-D, compared with IBS-M or IBS-U. The mean differences on the IBS-SSS between amitriptyline and placebo observed in these analyses were of a magnitude comparable to the proposed minimum clinically important difference.[31, 32] In terms of patient characteristics that affected likelihood of response to amitriptyline or placebo, only age ≥ 50 years, compared with < 50 years, predicted response to amitriptyline according to SGA of relief of IBS symptoms, and severe symptoms on the IBS-SSS, compared with mild symptoms, an increased likelihood of response to amitriptyline for a $\geq 30\%$ improvement in abdominal pain. There were no significant predictors of response to placebo. Mean differences in individual IBS-SSS scores favoured amitriptyline for all components of the IBS-SSS across almost all IBS subtypes, suggesting that the drug does not worsen symptoms in any particular subtype. This was borne out by the analysis of treatment-emergent adverse events by subtype.

There was a quantitative difference in effectiveness of amitriptyline in those aged ≥ 50 compared with < 50 years. Previous work has shown that placebo response rates are higher in younger patients with gastrointestinal disorders.[33] However, placebo response rates according to age in ATLANTIS were not markedly different, but rather response rates to active drug were. Others have shown that mean serum concentration to drug dose ratios of TCAs increase with

age,[34] meaning that exposure to active drug may have been higher in older, compared with younger, patients in the trial. The depression literature suggests that response to antidepressants may be better in those of higher socioeconomic status, and it has been presumed this relates to improved adherence in this patient group.[35] Our results suggest the reverse is the case when using antidepressants at low dose for IBS. It may be that adherence was better at lower dose and that the increased attention that those with higher deprivation indices received as part of the trial influenced outcomes. The larger treatment effect seen in men seemed to be related to higher placebo response rates among women in the trial, despite similar response rates to active drug, although evidence for the influence of sex on placebo response rates is inconsistent.[33] Our finding that stronger treatment effects, and higher rates of constipation, occurred in those with IBS-D is in keeping with the known effects of TCAs, which slow gastrointestinal transit.[36, 37] Finally, higher PHQ-12 scores were associated with greater treatment effects with amitriptyline, which is in keeping with the findings of a RCT of the TCA imipramine in 138 patients with functional somatic syndromes, of whom 43 met criteria for IBS, in which improvement with imipramine was significantly greater than with placebo across all syndromes.[38]

Although we used formal interaction testing, with 10 subgroup interaction tests across three outcomes, one to two statistically significant interaction tests at the 5% level would be expected based on chance alone. The subgroup effect for age was, however, observed consistently across the primary, key secondary, and exploratory outcomes at the 10% significance level, and the direction of effect was consistent in sensitivity analysis, in which the linear, rather than the subgroup effect, of age was considered. It is well known that interaction tests are not very sensitive and the power to detect a significant treatment-by-subgroup interaction tends to be low. A non-significant interaction does not generally indicate that the treatment effect is, in fact, homogeneous across the subgroups of interest. Therefore, we also reported consistent subgroup effects observed across outcomes that did not meet statistical levels

of significance. These findings should be considered as exploratory and hypothesis-generating, intended to guide future research, rather than providing definitive conclusions. We used a 6-month duration of treatment, longer than most drug trials in IBS, which usually assess efficacy over 12 weeks. We also used outcomes that are accepted widely in more pragmatic trials conducted in IBS, appropriate to the primary care setting, such as MDs in total IBS-SSS and SGA of relief symptoms of IBS. We conducted analyses on all participants, with imputation of missing data, and recruited participants irrespective of IBS subtype and demographic characteristics, allowing us to examine the impact of these on effectiveness and tolerability of drug or placebo.

Limitations include the fact that we did not utilise primary endpoints recommended by the Food and Drug administration (FDA) or European Medicines Agency (EMA) for drug trials conducted in IBS.[39, 40] Given the pragmatic nature of the trial, the requirement to answer daily symptom questions during 6 months of treatment to assess these would have been impractical and burdensome to participants. In addition, for IBS-M or IBS-U there is no consensus on endpoints. Our choice of a $\geq 30\%$ improvement in abdominal pain on the IBS-SSS, however, approximates FDA and EMA-recommended endpoints. The fact that over 80% of participants had IBS-D or IBS-M means that making judgements about the effectiveness of low-dose amitriptyline in those with IBS-C is limited by the smaller participant numbers. It may be that patients with IBS-C were aware that constipation is a potential side effect of amitriptyline, although satisfaction with bowel habit did not deteriorate in those with IBS-C during the trial, and rates of constipation were not increased with active drug compared with placebo. Nevertheless, other demographic characteristics of recruited individuals were wide ranging. Although the beneficial effect of amitriptyline varied across levels of the candidate effect modifiers, few interaction effects were statistically significant at the 5% level. This may relate to

a lack of power to detect differences between subgroups. A final issue is the possibility of unblinding due to the anticholinergic side effects of amitriptyline.

Previous meta-analyses have suggested a benefit of TCAs in IBS,[11-13] but an individual patient data meta-analysis to assess patient factors that might influence response to active drug or placebo has never been conducted. In addition, most trials of TCAs have been small and have not reported on predictors of response. In the largest trial of a TCA conducted prior to ATLANTIS, which randomised 216 participants with IBS or other functional bowel disorders to either desipramine or placebo, the response to desipramine appeared to be greater in those with normal depression scores, those with moderate, compared with severe, symptoms, and those with IBS-D.[41] In our study, effectiveness according to depression scores was inconsistent across endpoints. Response to amitriptyline was greater in those with severe symptoms when the mean change in IBS-SSS or a $\geq 30\%$ improvement in abdominal pain were used, but when SGA of relief was used the effect appeared greatest in those with mild symptoms. Finally, and in accordance with Drossman *et al.*, greater treatment effects with amitriptyline were observed consistently in those with IBS-D across all three endpoints studied, compared with IBS-M or IBS-U. However, as discussed, individual symptom domains on the IBS-SSS improved across all IBS subtypes, relative to placebo.

We believe it is unlikely that another large placebo-controlled trial of a TCA in IBS will be conducted. Although these analyses are exploratory, the consistent effects observed according to some patient characteristics suggest subgroups of patients in whom the effectiveness of amitriptyline may be enhanced, who could either be targeted for future treatment with a TCA in clinical practice or selected for further mechanistic studies of this class of drugs. They also reveal that amitriptyline did not worsen gastrointestinal symptoms, and was well-tolerated, in those with IBS-C, IBS-M, or IBS-U. These analyses are, therefore, likely to be useful. Take home messages for clinical practice include the fact that amitriptyline's effects appeared greatest

in older individuals, those reporting multiple other somatic symptoms, men, and those with IBS-D. However, as the drug appeared of benefit for all IBS symptoms studied and well tolerated, irrespective of subtype, it would seem reasonable to offer it to patients regardless of predominant bowel habit.

ACKNOWLEDGEMENTS

We would like to thank the 463 participants, and the 55 general practices involved in the study, as well as the Trial Steering Committee and Data Monitoring and Ethics Committee for their support throughout.

ETHICS COMMITTEE APPROVAL

The final protocol and subsequent amendments were approved by Yorkshire and the Humber (Sheffield) Research Ethics Committee (19/YH/0150).

CONTRIBUTOR AND GUARANTOR INFORMATION

Guarantor: AW-H and ACF are guarantor. They accept full responsibility for the work and the conduct of the study, had access to the data, and controlled the decision to publish.

Specific author contributions: AW-H, P-LO, AJF, HAE, and ACF conceived this *post hoc* analysis study. AW-H and P-LO analysed the data and had full access to, and verified, all the data in the study. AW-H, P-LO, AJF, HAE, and ACF interpreted the data. ACF, AW-H, and P-LO drafted the manuscript. All authors commented on drafts of the paper. All authors have approved the final draft of the manuscript. The corresponding author attests that all listed authors meet authorship criteria and that no others meeting the criteria have been omitted.

COPYRIGHT/LICENSE FOR PUBLICATION

The Corresponding Author has the right to grant on behalf of all authors and does grant on behalf of all authors, a worldwide licence to the Publishers and its licensees in perpetuity, in all forms, formats and media (whether known now or created in the future), to i) publish, reproduce, distribute, display and store the Contribution, ii) translate the Contribution into other languages, create adaptations, reprints, include within collections and create summaries, extracts and/or,

abstracts of the Contribution, iii) create any other derivative work(s) based on the Contribution, iv) to exploit all subsidiary rights in the Contribution, v) the inclusion of electronic links from the Contribution to third party material where-ever it may be located; and, vi) licence any third party to do any or all of the above.

COMPETING INTERESTS DECLARATION

Alexandra Wright-Hughes: NIHR grant funding paid to her institution, Data Monitoring and Ethics Committee and Trial Steering Committee member of NIHR and MRC funded projects, travel reimbursement for expert Committee membership of the Yorkshire and Northeast Regional Advisory Committee for NIHR Research for Patient Benefit. Pei-Loo Ow: none. Sarah L. Alderson: NIHR, YCR, and Health Data Research UK grant funding paid to her institution, consulting fees from West Yorkshire Integrated Care Board paid to her institution, speaker's payments from Xytal, and grant funding panel member for NIHR. Matthew J. Ridd: NIHR grant funding paid to his institution. Robbie Foy: NIHR and YCR grant funding paid to his institution, Chair of NICE Implementation Strategy Group. Felicity L. Bishop: none. Matthew Chaddock: none. Catherine Fernandez: none. Elspeth A. Guthrie: NIHR and Leeds Hospitals Charity grant funding paid to her institution. Delia P. Muir: none. Christopher M. Taylor: none. Amanda J. Farrin: NIHR grant funding paid to her institution, Data Monitoring and Ethics Committee and Trial Steering Committee member of NIHR and BHF funded projects, and NIHR senior investigator. Hazel A. Everitt: NIHR grant funding paid to her institution. Alexander C. Ford: NIHR grant funding paid to his institution.

TRANSPARENCY STATEMENT

The lead author (ACF, the manuscript's guarantor) affirms that the manuscript is an honest, accurate, and transparent account of the study being reported; that no important aspects of the

study have been omitted; and that any discrepancies from the study as originally planned (and, if relevant, registered) have been explained.

ROLE OF THE FUNDING SOURCE

The study was funded by the NIHR Health Technology Assessment Programme (grant reference: 16/162/01). The funder had no role in data collection, analysis, interpretation, writing of the manuscript, or the decision to submit for publication. This report is independent research in response to a commissioned call funded by the NIHR. The views expressed in this publication are those of the authors, not necessarily those of the National Health Service, the NIHR, or the Department of Health and Social Care.

PATIENT AND PUBLIC INVOLVEMENT STATEMENT

Patient and public involvement (PPI) representatives were involved at all stages and provided valuable contributions to trial design, documentation, and outputs.

DATA SHARING

All data requests should be submitted to the corresponding author, Professor Alexander C. Ford, for consideration and would be subject to review by a subgroup of the trial team, which will include the data guarantor, Professor Amanda J. Farrin. Access to anonymised data may be granted following this review. All data-sharing activities would require a data-sharing agreement.

REFERENCES

- 1 Ford AC, Sperber AD, Corsetti M, Camilleri M. Irritable bowel syndrome. *Lancet* 2020;**396**:1675-88.
- 2 Mearin F, Lacy BE, Chang L, Chey WD, Lembo AJ, Simren M, *et al.* Bowel disorders. *Gastroenterology* 2016;**150**:1393-407.
- 3 Sperber AD, Bangdiwala SI, Drossman DA, Ghoshal UC, Simren M, Tack J, *et al.* Worldwide prevalence and burden of functional gastrointestinal disorders, results of Rome Foundation global study. *Gastroenterology* 2021;**160**:99-114.
- 4 Oka P, Parr H, Barberio B, Black CJ, Savarino EV, Ford AC. Global prevalence of irritable bowel syndrome according to Rome III or IV criteria: A systematic review and meta-analysis. *The lancet Gastroenterology & hepatology* 2020;**5**:908-17.
- 5 Ford AC, Forman D, Bailey AG, Axon ATR, Moayyedi P. Irritable bowel syndrome: A 10-year natural history of symptoms, and factors that influence consultation behavior. *Am J Gastroenterol* 2008;**103**:1229-39.
- 6 Goodoory VC, Guthrie EA, Ng CE, Black CJ, Ford AC. Factors associated with lower disease-specific and generic health-related quality of life in Rome IV irritable bowel syndrome. *Aliment Pharmacol Ther* 2023;**57**:323-34.
- 7 Goodoory VC, Ng CE, Black CJ, Ford AC. Impact of Rome IV irritable bowel syndrome on work and activities of daily living. *Aliment Pharmacol Ther* 2022;**56**:844-56.

- 8 Goodoory VC, Ng CE, Black CJ, Ford AC. Willingness to accept risk with medication in return for cure of symptoms among patients with Rome IV irritable bowel syndrome. *Aliment Pharmacol Ther* 2022;**55**:1311-9.
- 9 Goodoory VC, Ng CE, Black CJ, Ford AC. Direct healthcare costs of Rome IV or Rome III-defined irritable bowel syndrome in the United Kingdom. *Aliment Pharmacol Ther* 2022;**56**:110-20.
- 10 Hookway C, Buckner S, Crosland P, Longson D. Irritable bowel syndrome in adults in primary care: Summary of updated NICE guidance. *BMJ* 2015;**350**:h701.
- 11 Ruepert L, Quartero AO, de Wit NJ, van der Heijden GJ, Rubin G, Muris JW. Bulking agents, antispasmodics and antidepressants for the treatment of irritable bowel syndrome. *Cochrane Database Syst Rev* 2011;**(8)**:CD003460.
- 12 Ford AC, Quigley EM, Lacy BE, Lembo AJ, Saito YA, Schiller LR, *et al.* Effect of antidepressants and psychological therapies, including hypnotherapy, in irritable bowel syndrome: Systematic review and meta-analysis. *Am J Gastroenterol* 2014;**109**:1350-65.
- 13 Ford AC, Lacy BE, Harris LA, Quigley EM, Moayyedi P. Effect of antidepressants and psychological therapies in irritable bowel syndrome: An updated systematic review and meta-analysis. *Am J Gastroenterol* 2019;**114**:21-39.
- 14 Sindrup SH, Otto M, Finnerup NB, Jensen TS. Antidepressants in the treatment of neuropathic pain. *Basic & clinical pharmacology & toxicology* 2005;**96**:399-409.

- 15 Saarto T, Wiffen PJ. Antidepressants for neuropathic pain. *Cochrane Database Syst Rev* 2007;(4):**CD005454**.
- 16 Wong J, Motulsky A, Abrahamowicz M, Egualé T, Buckeridge DL, Tamblyn R. Off-label indications for antidepressants in primary care: Descriptive study of prescriptions from an indication based electronic prescribing system. *BMJ* 2017;**356**:j603.
- 17 Ford AC, Wright-Hughes A, Alderson SL, Ow PL, Ridd MJ, Foy R, *et al.* Amitriptyline at low-dose and titrated for irritable bowel syndrome as second-line treatment in primary care (ATLANTIS): A randomised, double-blind, placebo-controlled, phase 3 trial. *Lancet* 2023;**402**:1773-85.
- 18 Tanniou J, van der Tweel I, Teerenstra S, Roes KC. Subgroup analyses in confirmatory clinical trials: Time to be specific about their purposes. *BMC Med Res Methodol* 2016;**16**:20.
- 19 Alderson SL, Wright-Hughes A, Ford AC, Farrin A, Hartley S, Fernandez C, *et al.* Amitriptyline at low-dose and titrated for irritable bowel syndrome as second-line treatment (The ATLANTIS trial): Protocol for a randomised double-blind placebo-controlled trial in primary care. *Trials* 2022;**23**:552.
- 20 Teasdale E, Everitt H, Alderson S, Ford A, Hanney J, Chaddock M, *et al.* Low-dose amitriptyline for irritable bowel syndrome (IBS): A qualitative study of patients' and GPs' views and experiences. *Br J Gen Pract* 2024;doi: **10.3399/BJGP.2024.0303**.

- 21 Wright-Hughes A, Ford AC, Alderson SL, Ow PL, Ridd MJ, Foy R, *et al.* Low-dose titrated amitriptyline as second-line treatment for adults with irritable bowel syndrome in primary care: The ATLANTIS RCT. *Health Technol Assess* 2024;**28**:1-161.
- 22 Francis CY, Morris J, Whorwell PJ. The irritable bowel severity scoring system: A simple method of monitoring irritable bowel syndrome and its progress. *Aliment Pharmacol Ther* 1997;**11**:395-402.
- 23 Patel P, Bercik P, Morgan DG, Bolino C, Pintos-Sanchez MI, Moayyedi P, *et al.* Irritable bowel syndrome is significantly associated with somatisation in 840 patients, which may drive bloating. *Aliment Pharmacol Ther* 2015;**41**:449-58.
- 24 Spiller RC, Humes DJ, Campbell E, Hastings M, Neal KR, Dukes GE, *et al.* The Patient Health Questionnaire 12 Somatic Symptom scale as a predictor of symptom severity and consulting behaviour in patients with irritable bowel syndrome and symptomatic diverticular disease. *Aliment Pharmacol Ther* 2010;**32**:811-20.
- 25 Zigmond AS, Snaith RP. The hospital anxiety and depression scale. *Acta Psychiatr Scand* 1983;**67**:361-70.
- 26 Mundt JC, Marks IM, Shear MK, Greist JH. The Work and Social Adjustment Scale: A simple measure of impairment in functioning. *Br J Psychiatry* 2002;**180**:461-4.
- 27 Tanaka Y, Kanazawa M, Fukudo S, Drossman DA. Biopsychosocial model of irritable bowel syndrome. *J Neurogastroenterol Motil* 2011;**17**:131-9.

- 28 Vickers AJ, Altman DG. Statistics notes: Analysing controlled trials with baseline and follow up measurements. *BMJ* 2001;**323**:1123-4.
- 29 Wang R, Lagakos SW, Ware JH, Hunter DJ, Drazen JM. Statistics in medicine: Reporting of subgroup analyses in clinical trials. *N Engl J Med* 2007;**357**:2189-94.
- 30 Williamson SF, Grayling MJ, Mander AP, Noor NM, Savage JS, Yap C, *et al.* Subgroup analyses in randomized controlled trials frequently categorized continuous subgroup information. *J Clin Epidemiol* 2022;**150**:72-9.
- 31 Everitt H, Moss-Morris R, Sibelli A, Tapp L, Coleman N, Yardley L, *et al.* Management of irritable bowel syndrome in primary care: The results of an exploratory randomised controlled trial of mebeverine, methylcellulose, placebo and a self-management website. *BMC Gastroenterol* 2013;**13**:68.
- 32 Everitt HA, Landau S, O'Reilly G, Sibelli A, Hughes S, Windgassen S, *et al.* Assessing telephone-delivered cognitive-behavioural therapy (CBT) and web-delivered CBT versus treatment as usual in irritable bowel syndrome (ACTIB): A multicentre randomised trial. *Gut* 2019;**68**:1613-23.
- 33 Weimer K, Colloca L, Enck P. Age and sex as moderators of the placebo response – an evaluation of systematic reviews and meta-analyses across medicine. *Gerontology* 2015;**61**:97-108.
- 34 Waade RB, Molden E, Refsum H, Hermann M. Serum concentrations of antidepressants in the elderly. *Ther Drug Monit* 2012;**34**:25-30.

- 35 Elwadhi D, Cohen A. Social inequalities in antidepressant treatment outcomes: A systematic review. *Soc Psychiatry Psychiatr Epidemiol* 2020;**55**:1241-59.
- 36 Gorard DA, Libby GW, Farthing MJ. Influence of antidepressants on whole gut oro-caecal transit times in health and irritable bowel syndrome. *Aliment Pharmacol Ther* 1994;**8**:159-66.
- 37 Gorard DA, Libby GW, Farthing MJ. Effect of a tricyclic antidepressant on small intestinal motility in health and diarrhea-predominant irritable bowel syndrome. *Dig Dis Sci* 1995;**40**:86-95.
- 38 Agger JL, Schroder A, Gormsen LK, Jensen JS, Jensen TS, Fink PK. Imipramine versus placebo for multiple functional somatic syndromes (STreSS-3): A double-blind, randomised study. *The Lancet Psychiatry* 2017;**4**:378-88.
- 39 Food and Drug Administration. Guidance for industry: Irritable bowel syndrome - clinical evaluation of drugs for treatment. <https://www.fda.gov/media/78622/download>. 2012. Accessed 30th November 2024.
- 40 European Medicines Agency. Guideline on the evaluation of medicinal products for the treatment of irritable bowel syndrome. https://www.ema.europa.eu/en/documents/scientific-guideline/guideline-evaluation-medicinal-products-treatment-irritable-bowel-syndrome-revision-1_en.pdf. 2014. Accessed 30th November 2024.

41 Drossman DA, Toner BB, Whitehead WE, Diamant NE, Dalton CB, Duncan S, *et al.*

Cognitive-behavioral therapy versus education and desipramine versus placebo for moderate to severe functional bowel disorders. *Gastroenterology* 2003;**125**:19-31.

FIGURE LEGENDS

Figure 1. Forest Plot of Treatment Effects on the Total IBS-SSS score at 6 Months

According to Participant Baseline Characteristics.

Figure 2. Forest Plot of Treatment Effects on SGA of Relief of IBS Symptoms at 6 Months

According to Participant Baseline Characteristics.

Figure 3. Forest Plot of Treatment Effects on a $\geq 30\%$ Improvement in Abdominal Pain at

6 Months According to Participant Baseline Characteristics.